
Auth.Distributors  :  M/s FAIR BROTHER AUTO SALES,

                                     Opp. HARYANA MOTOR MARKET, G.T. ROAD, AMBALA CITY.

                                         PH: 0171- 2445309,  MOB: 09034124545,  7082314545 

Price  Effective From : 01-04-2018                                                                                      Co. Rep. - Mr.Manoj Johari - 9654959815

SNO. NO. M.R.P. SNO. NO. M.R.P. SNO. NO. M.R.P.

1 1988/22 392 45 K47487/20 1440 89 6008..2Z 399

2 24780/20 644 46 32307 854 90 6008.2RSR 454

3 25572/20 604 47 5001  (306645C) . 91 6009.2Z 460

4 25590/25523 750 48 5002  (MSN 14) . 92 6009.2RSR 479

5 28580/21 750 49 5012  (1888180) 852 93 6010.2Z 592

6 NU309N  ( 615157 ) 737 50 5012A  (1888180WH) 1008 94 6010.2RSR 641

7 NUP309EN  895 51 5012B 1043 95 6011.2Z 762

8 QJ309 914 52 5013A 912 96 6011.2RSR 819

9 30203 277 53 509043 . 97 6012.2RSR 1006

10 30204 308 54 KLM511946/910 . 98 6013 2Z 1033

11 30205 316 55 510148  (NU 307 MN) 822 99 6013.2RSR 1075

12 30206 382 56 521618 (77213) 1916 100 6014 2Z 1224

13 30207 425 57 K535/532 1242 101 6015 2Z 1369

14 30208 548 58 540082 1282 102 6015.2RSR 1439

15 30209 540 59 559367 706 103 6016 1376

16 30210 710 60 K566/563 1364 104 6016.2RSR 1613

17 30214 1385 61 565/62  (805545) 1710 105 6016.2ZR 1562

18 30305 388 62 566425 32590 106 603049 662

19 30307 753 63 566426 23616 107 604203 ( 6013WOS ) 1437

20 30308 749 64 566427 22489 108 606050 1363

21 30309 981 65 568141  (6211WOS) 1363 109 628 97

22 NUP310EN 1094 66 568141.01 1363 110 6200.2Z 120

23 31309 1133 67 572050  ( GB-60 ) 2781 111 6200.2RSR 138

24 31312L  (511482) 2104 68 572158  ( GB-50 ) 2845 112 6201-2Z 114

25 32020X 2137 69 K580/572 1370 113 6201.2RS 134

26 32209 603 70 584686 ( LA-27 WH ) 1503 114 6202.2Z 120

27 32206 511 71 584687  ( GB-75 ) 2079 115 6202.2RSR 138

28 32207 476 72 584688  AL 2116 116 6203-2Z 148

29 32208 692 73 6000.2RSR.C3 120 117 6203.2RS 156

30 32210 745 74 6000 2Z 120 118 6204.2Z 208

31 32211A 731 75 6001-C 2RS 152 119 6204.2RSR 234

32 32212A 1139 76 6001 2Z 118 120 6204N 170

33 32213A 1539 77 6002.2RSR 164 121 6205.2Z 290

34 32214 1482 78 6002 2Z 144 122 6205.2RSR 312

35 32216 1858 79 6003.2Z 162 123 6206.2Z 384

36 32217 2350 80 6003.2RSR 192 124 6206.2RSR 400

37 32218 3625 81 6004.2Z 174 125 6207.2Z 398

38 32308 840 82 6004.2RSR 180 126 6207.2RSR 422

39 33005 320 83 6005.2Z 194 127 6208.2Z 476

40 33012 1022 84 6005.2RSR 218 128 6208.2RSR 496

41 33019 2053 85 6006.2Z 252 129 6209.2Z 526

42 33111 1006 86 6006.2RSR 268 130 6209.2RSR 558

43 33215 2102 87 6007.2ZR 312 131 6210.2RSR 666

44 KL44649/610 272 88 6007.2RSR 318 132 6210 2Z 564

FAG 
BEARINGS



SNO. NO. M.R.P. SNO. NO. M.R.P. SNO. NO. M.R.P.

133 6211.2Z 722 154 6305.2RSR 304 175 8001  ( LO 64 ) 461

134 6211*2(TWIN) 1280 155 6306.2Z 406 176 800507 320

135 6211.2RSR 860 156 6306.2RSR 438 177 800508 575

136 6212K 728 157 6307.2Z 462 178 800856 382

137 6212.2RSR 1006 158 6307.2RSR 594 179 803385 250

138 6213 2Z 988 159 6308.2Z 700 180 803386 281

139 6213.2RSR 1138 160 6308.2RSR 710 181 803837 1936

140 6215 2Z 1264 161 6308N 610 182 805345 1152

141 6215.2RSR 1404 162 6309N 848 183 805428  ( JC 8020 ) 1615

142 6215K 1078 163 6309.2Z 1028 184 805497  ( LA 27 ) 1088

143 6216 2Z 2094 164 6309.2RSR 1140 185 805545  ( 565/62 ) 1710

144 6217K 2024 165 6209K 476 186 805563A (NS 1909L ) 1486

145 6301 2Z 122 166 6310.2Z 1070 187 805582  ( N 1008 ) 593

146 6301.2RSR*2(TWIN) 260 167 6310.2RSR 1190 188 805641  ( JC 8025 ) 1338

147 6302 2Z 202 168 6310N 844 189 808004 948

148 6302.2RSR 224 169 6311.2RSR 1638 190 808140 368

149 6303.2Z 224 170 6312.2RSR 1894 191 808601 ( NUP 1209 ) 1416

150 6303.2RSRL207 230 171 AK6379/20 2314 192 88509 772

151 6304.2Z 224 172 KLM67048/LM67010 320 193 88509A 958

152 6304.2RSR 240 173 K683/672 2386

153 6305.2Z 280 174 K72212/72487 1430

SNO PART NO. DESCRIPTION MRP SNO PART NO. DESCRIPTION MRP

1 KLM11749/710 RW OUTER HYUNDAI SANTRO 244 28 589521.01 RW MARUTI SWWIFT (N.ABS) HUB 3268

2 KLM11949/910 FW INNER TOYOTA QUALIS 332 29 589521RDL RW MARUTI SWIFT(ABS) HUB 3598

3 KM12649/M12610 FW GM TAVERA/ESCORTS/AMBAS. 340 30 589816 RW TATA INDICA/MARINA/INDIGO 961

4 25590/25520 FW MM SCORPIO 734 31 6007RSR.C3*2(TWIN)FW MARUTI800/ZEN/ESTEEM 520

5 320/32X FW TATA ACE( INNER) 394 32 608228 FW MM VARITO/LOGAN.MICRA/SUNNY(N.ABS) 2800

6 KLM48548/510 FW TATA SUMO/GM TAVERA 396 33 617033 RW MM XYLO 542

7 L-05003 CLUTCH TATA INDICA 576 34 624485 FW TOYOTA COROLLA 1436

8 501349/10 FW OUTER&RRW INNER MAHINDRA 472 35 627804 RW MICRA/SUNNY/PULSE/SCALA 975

9 542186EA FW  TATA INDIGO/FORD/DAEWOO 979 36 KL68149/68111 FW CHEVOROLET SPARK/MATIZ 442

10 547103E FW BEARING TATA WINGER/M.SX4 1254 37 800179D RW SKODA OCTAVIA/POLO/VENTO 3241

11 563420.01 FW SWIFT/RITZ/DEZIRE (N.ABS) 915 38 801023AB RW FORD FIESTA 1851

12 563420/RDL-G1 FW SWIFT/RITZ/DEZIRE (ABS) 1047 39 801136 FW SKODA OCTAVIA/FORCE TRUMP 40 1698

13 564648 CLUTCH ALTO/TATA ACE 545 40 801191 RW SKODA FABIA/POLO/ VENTO(ABS) 3389

14 567447B FW SKODA SUPERB 2338 41 801344D RW SKODA SUPERB 6655

15 567447B.DRTB0295 FW TOYOTA INNOVA 1833 42 803374 TWIN FW TATA INDICA/FIAT UNO 1790

16 571998 TWIN RW MARUTI ASTAR/NEW WAGON R 1744 43 803640BA FW SKODA FEBIA/POLO/VENTO 4495

17 572428 RR WHEEL FORD ICON 433 44 803647 FW GM AVEO/UVA/BEAT/FAN L/L HINO 1151

18 572446 RW MM GEO,JEETO 1010 45 805172 TWIN FW MARUTI800/OMNI/ZEN/ESTEEM 1568

19 572451  (SP-80) RW TOYOTA INNOVA/QUALIS 603 46 805657.01 FW SKODA LAURA 3RD GEN. 3918
20 574191 RW SKODA LAURA(2ND GEN.)/JEETA3612 47 805697 FW HONDA CITY 1496

21 575282 RW MM MAXIMO 608 48 805921A.E*2 (TWIN)FW HYUNDAI SANTRO ZING/GETZ 2208

22 575403 RW SWIFT/DEZIRE/RITZ 961 49 805959.01 RW TATA NANO 815

23 575757.01 RW MARUTI ERTIGA(N.ABS) 3268 50 848097 FW HYUNDAI SANTRO OLD MODAL 522

24 575757 RDL RW MARUTI ERTIGA(ABS) 3598 51 848264(DT-255237) RW CHEVOROL AVEO/BEAT 2350

25 576003 FW MM MAXIMO MTV&LTV(NEW) 913 52 HUB294 NON ABS W.B.-HONDA CITY TYPE (3) 3053

26 577503 TWIN FW ALTO/NEW WAGON R/A-STAR 1416 53 HUB294 ABS W.B.-HONDA CITY TYPE (4) 3376

27 581954 FW MARUTI EECO 2116

CAR WHEEL BEARINGS



SNO PART NO. DESCRIPTION MRP SNO PART NO. DESCRIPTION MRP

1 KLM11749/710 RW OUTER HYUNDAI SANTRO 244 28 589521.01 RW MARUTI SWWIFT (N.ABS) HUB 3268

2 KLM11949/910 FW INNER TOYOTA QUALIS 332 29 589521RDL RW MARUTI SWIFT(ABS) HUB 3598

3 KM12649/M12610 FW GM TAVERA/ESCORTS/AMBAS. 340 30 589816 RW TATA INDICA/MARINA/INDIGO 961

4 25590/25520 FW MM SCORPIO 734 31 6007RSR.C3*2(TWIN)FW MARUTI800/ZEN/ESTEEM 520

5 320/32X FW TATA ACE( INNER) 394 32 608228 FW MM VARITO/LOGAN.MICRA/SUNNY(N.ABS) 2800

6 KLM48548/510 FW TATA SUMO/GM TAVERA 396 33 617033 RW MM XYLO 542

7 L-05003 CLUTCH TATA INDICA 576 34 624485 FW TOYOTA COROLLA 1436

8 501349/10 FW OUTER&RRW INNER MAHINDRA 472 35 627804 RW MICRA/SUNNY/PULSE/SCALA 975

9 542186EA FW  TATA INDIGO/FORD/DAEWOO 979 36 KL68149/68111 FW CHEVOROLET SPARK/MATIZ 442

10 547103E FW BEARING TATA WINGER/M.SX4 1254 37 800179D RW SKODA OCTAVIA/POLO/VENTO 3241

11 563420.01 FW SWIFT/RITZ/DEZIRE (N.ABS) 915 38 801023AB RW FORD FIESTA 1851

12 563420/RDL-G1 FW SWIFT/RITZ/DEZIRE (ABS) 1047 39 801136 FW SKODA OCTAVIA/FORCE TRUMP 40 1698

13 564648 CLUTCH ALTO/TATA ACE 545 40 801191 RW SKODA FABIA/POLO/ VENTO(ABS) 3389

14 567447B FW SKODA SUPERB 2338 41 801344D RW SKODA SUPERB 6655

15 567447B.DRTB0295 FW TOYOTA INNOVA 1833 42 803374 TWIN FW TATA INDICA/FIAT UNO 1790

16 571998 TWIN RW MARUTI ASTAR/NEW WAGON R 1744 43 803640BA FW SKODA FEBIA/POLO/VENTO 4495

17 572428 RR WHEEL FORD ICON 433 44 803647 FW GM AVEO/UVA/BEAT/FAN L/L HINO 1151

18 572446 RW MM GEO,JEETO 1010 45 805172 TWIN FW MARUTI800/OMNI/ZEN/ESTEEM 1568

19 572451  (SP-80) RW TOYOTA INNOVA/QUALIS 603 46 805657.01 FW SKODA LAURA 3RD GEN. 3918
20 574191 RW SKODA LAURA(2ND GEN.)/JEETA3612 47 805697 FW HONDA CITY 1496

21 575282 RW MM MAXIMO 608 48 805921A.E*2 (TWIN)FW HYUNDAI SANTRO ZING/GETZ 2208

22 575403 RW SWIFT/DEZIRE/RITZ 961 49 805959.01 RW TATA NANO 815

23 575757.01 RW MARUTI ERTIGA(N.ABS) 3268 50 848097 FW HYUNDAI SANTRO OLD MODAL 522

24 575757 RDL RW MARUTI ERTIGA(ABS) 3598 51 848264(DT-255237) RW CHEVOROL AVEO/BEAT 2350

25 576003 FW MM MAXIMO MTV&LTV(NEW) 913 52 HUB294 NON ABS W.B.-HONDA CITY TYPE (3) 3053

26 577503 TWIN FW ALTO/NEW WAGON R/A-STAR 1416 53 HUB294 ABS W.B.-HONDA CITY TYPE (4) 3376

27 581954 FW MARUTI EECO 2116

CAR WHEEL BEARINGS



SNO PART NO. DESCRIPTION MRP SNO PART NO. DESCRIPTION MRP

1 KLM11749/710 RW OUTER HYUNDAI SANTRO 244 28 589521.01 RW MARUTI SWWIFT (N.ABS) HUB 3268

2 KLM11949/910 FW INNER TOYOTA QUALIS 332 29 589521RDL RW MARUTI SWIFT(ABS) HUB 3598

3 KM12649/M12610 FW GM TAVERA/ESCORTS/AMBAS. 340 30 589816 RW TATA INDICA/MARINA/INDIGO 961

4 25590/25520 FW MM SCORPIO 734 31 6007RSR.C3*2(TWIN)FW MARUTI800/ZEN/ESTEEM 520

5 320/32X FW TATA ACE( INNER) 394 32 608228 FW MM VARITO/LOGAN.MICRA/SUNNY(N.ABS) 2800

6 KLM48548/510 FW TATA SUMO/GM TAVERA 396 33 617033 RW MM XYLO 542

7 L-05003 CLUTCH TATA INDICA 576 34 624485 FW TOYOTA COROLLA 1436

8 501349/10 FW OUTER&RRW INNER MAHINDRA 472 35 627804 RW MICRA/SUNNY/PULSE/SCALA 975

9 542186EA FW  TATA INDIGO/FORD/DAEWOO 979 36 KL68149/68111 FW CHEVOROLET SPARK/MATIZ 442

10 547103E FW BEARING TATA WINGER/M.SX4 1254 37 800179D RW SKODA OCTAVIA/POLO/VENTO 3241

11 563420.01 FW SWIFT/RITZ/DEZIRE (N.ABS) 915 38 801023AB RW FORD FIESTA 1851

12 563420/RDL-G1 FW SWIFT/RITZ/DEZIRE (ABS) 1047 39 801136 FW SKODA OCTAVIA/FORCE TRUMP 40 1698

13 564648 CLUTCH ALTO/TATA ACE 545 40 801191 RW SKODA FABIA/POLO/ VENTO(ABS) 3389

14 567447B FW SKODA SUPERB 2338 41 801344D RW SKODA SUPERB 6655

15 567447B.DRTB0295 FW TOYOTA INNOVA 1833 42 803374 TWIN FW TATA INDICA/FIAT UNO 1790

16 571998 TWIN RW MARUTI ASTAR/NEW WAGON R 1744 43 803640BA FW SKODA FEBIA/POLO/VENTO 4495

17 572428 RR WHEEL FORD ICON 433 44 803647 FW GM AVEO/UVA/BEAT/FAN L/L HINO 1151

18 572446 RW MM GEO,JEETO 1010 45 805172 TWIN FW MARUTI800/OMNI/ZEN/ESTEEM 1568

19 572451  (SP-80) RW TOYOTA INNOVA/QUALIS 603 46 805657.01 FW SKODA LAURA 3RD GEN. 3918
20 574191 RW SKODA LAURA(2ND GEN.)/JEETA 3612 47 805697 FW HONDA CITY 1496

21 575282 RW MM MAXIMO 608 48 805921A.E*2 (TWIN) FW HYUNDAI SANTRO ZING/GETZ 2208

22 575403 RW SWIFT/DEZIRE/RITZ 961 49 805959.01 RW TATA NANO 815

23 575757.01 RW MARUTI ERTIGA(N.ABS) 3268 50 848097 FW HYUNDAI SANTRO OLD MODAL 522

24 575757 RDL RW MARUTI ERTIGA(ABS) 3598 51 848264(DT-255237) RW CHEVOROL AVEO/BEAT 2350

25 576003 FW MM MAXIMO MTV&LTV(NEW) 913 52 HUB294 NON ABS W.B.-HONDA CITY TYPE (3) 3053

26 577503 TWIN FW ALTO/NEW WAGON R/A-STAR 1416 53 HUB294 ABS W.B.-HONDA CITY TYPE (4) 3376

27 581954 FW MARUTI EECO 2116

CAR WHEEL BEARINGS


